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Particle Motion Practice

The POSITION of a moving particle on a
coordinate line is given by the function,

s(t)=-t"-4t* +60t
where t is measured in minutes and s(t)
is inches.

The VELOCITY of a particle is
v(t)=-3t"-8t+60

where t is measured in minutes and v(t)

is inches per minute.

The ACCELERATION of a particle is

-6t -8
where t is szured in minutes and a(t)
is inches per minute squared.

@ $(0)=-(0)"~4 (0)’+60(0) =0
@ V()=0 -3£%-3t+60=0

P +*-9¢-180=0
\ '%("’ (e-19)(£+0)=0
Al 3D

=3
£04°' % (wto) (aetn)=0

Answer the following questions about a particle thaﬂ

moves on a horizontal coordinate line.

® 1. Where does the particle start?

Packicle starks af x=0

® 2. When is does the particle stop?

Parlide stop ofter 193 mins.

@® 3. Where does the particle stop?

Partide stops at x= 113519
04 When is th partlcle moving to the right/left?

H U0,93) Left: (9,0

J

en is the palzncle speeding up) slowing down?

® 5.
S(1%)=~('%)-4("%)+60('%) % 13.59
v(£)

t14ttitymanas=y

a(t)
S peed ir9up (75 /D) S‘owi@ don [0,'%5)
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ﬂ POSITION of a moving particle ona  Answer the following questions about a particle that\
coordinate "’(‘te) 8 %‘)’fg:}y the function, moves on a horizontal coordinate line.
S ==
where t is measured in minutes and s(t) ® 1 Where does the

is inches.

The VELOCITY of a 3pamcle is
v(t)_ —4¢% + 24t

where t is measured in minutes and v(t)
is inches per minute.

The ACCELERATION of a particle is

rLJ —-12t* +48t
where t is measured in mlnutes and a(t)

is inches per minute squared.
¢ 5(0)= - (0)'+3(0)°
oV(#)=0 -~Yt>+24€* =D
-4¢*(1-6)=0

£=0 t=0
LY

i:\mcle start?

ke Pactidy starts a3 x=0

& 2 When is does the particle stop?

after b
Th Pactilo starts ot rest and shyps  wins.
® 3. Where does the particle stop?

The Parhide {5 s a+ X=D and x=432

4. When is the particle movmg to the right/left?

a’H (0 ) Lett(6

hen is t e partlcle speégong up/ slowung down'7
& s(o)=

~%300)% =0  <(6)=-(b) 362132

& v((‘s ] ++t-tn |--’-'—-9-

SPQQAup [0;'0\’(6/"")

a(€)z0 9 ~12€"443E=0  ¢() ., down’ (4,6)
-12£(€-4)=0

£=0 ¢=¢
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@OS’T’ON of a moving particle ona  Answer the following questions about a particle that\

coordinate line is given by the function, moves on a horizontal coordinate line.

s(t)=-t*+22t-112
where t is measured in minutes and s(t) @®1. Where does the particle start?
is inches. &W&'{M’a ;“,h{g q‘. lxa-ll;)_

i @2 en is does the partlce stop
The VELOCITY of rticl
¢ v(t)=—gtfzga een e Pardide 8{35 r \\mins,
where t is measured in minutes and vty @ 3 Where does the particle stop?
is inches per minute. He Partide stops o+ x=19
Q4 When is the pafticle movmg to the right/left?

The ACCELERATION of a particle is Riaht Co W) Left(u,od

a(t):— o 5. hen is the particle speeélng up/ slowing down?

where t is measured in minutes and a(t)

is inches per minute squared.
Vv ({) [£+tt+4tt == i LN

e S (0)=-(0)"422(0) -n2=-111. reteees gy
ov(£)=0 -24€22=0 =1l g (¥) BRI, LU
o ()=~ 4200 -2 =9

spuding up (1,8) slovsing down [0,\1)

/
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The POSITION of a moving particle on a

coordinate line js glven by the function,
sfﬁ -13t

where t is measured in minutes and s(t)
is inches.

The VELOCITY of a particle is

_ Q: 3t%—26t
where t is measured in minutes and v(t)

is inches per minute.

The ACCELERATION of a particle is
=6t-26

where t is measured in minutes and a(t)

is inches per minute squared.

s(0)=(0)*~13(0)* = 0

V)0 = 3 -24¢=0
£(3%k-20)=0

k 120 =29,

Answer the following questions about a particle thD

moves on a horizontal coordinate line.

® 1. Where does the partlcle start?
The particy starts at x=0

[ P} When is does the particle sto s
chysat x2 /3

The parkico starks ot reston

® 3 Where does the p pgcl stop?
The pacticle s

a(6) FI\_‘M slwmédwn(%f%/

xe0ad X=-3254%)
@ 4 When is the partlcle movmg to the right/left?

, Rkt (s 2 L (0%)
en is the partlcle speedlng up slowmg down'?

V(OB (0) P13tz v(*s): (%) IB(%)“'

-325.48l
\

speading, vp  (0,276)v (¥5))
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